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PART - 11
SOCIOLOGY — HONOURS
Paper - III
Duration : 4 Hours | [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.
Teq AT fcerg oy @1 aigAA |
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Group - A
feotet — =

Answer Quecstion No. 1 and any two from the rest.

1. Write short notes on any four from the following : 4 x5=20
.a) Rolec of organization in modern society
b) Dysfunction of burcaucracy
) Inequalitics for women in the labour market

d) °  Industrial conflict
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) Political participation of women in the modern world

f) Social role of television

R Globalizing media.

Examinc Weber's view on burecaucracy. 15

Discuss the emerging trends of occupational system. 15

Define power and authority. Discuss in this connection, different forms of authority.

5+ 10
Discuss the major theories on mass media. 15
Group - B
fstat - o
Answer Question No. 6 and any two from the rest.
Write short notes on any four of the following : 4 x5=20

(3 (I brRTS fAaNg aorg siehied B g

a) Education and culture .

b) Development of literacy
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10.

c) Rcvolution
fagra
d) Third World urbanisation

SO ERNEILE R

e) Multinational Corporation

quaifies Aty

Concept of globalization

frrere graen

g) Megacity.

(B |

Explain how gender diffcrences develop and get reinforced in the process of education.

15
Discuss Max Weber's view on religion. 15
Explain the causes and nature of problems presently found in urban society. 15

Explain Transnational Corporation and its relation with globalization. 15
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B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2013

PART - II

SOCIOLOGY — HONOURS
Paper - IV
Duration : 3 Hours | [ Full Marks : 70

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.
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Group - A
o -
Answer Question No. 1 and any two from the rest.
FURE R SN e e aE R TR [ ERO R ECH
1. Write short notes on any two from the following : 2x5=10
G (ol Wi e o fRee Blel &y
af Merits and demcrits of telephonic survey
wRory TR jfRd @9t ee[Ra o
Operational definition of concepts
LRI ERA SIS 1ee]
cf Relationship of theory and research
0§ @R SIEENE P
¢ A Differcnces between research mcthodology and method.

SR Aaiofaur ag *iamfog one< |
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/2.

What are the general rules of questionnaire construction ? Discuss with suitable

examples the various types of questions used in a questionnaire. 5+10

oMMl S1E Hiael Afosfler o o 2 epyweny weze [Afen gqma epie THRPiz S

Discuss the uscs and abuses of social research. 15
AIfEie SN 44219 8 AQARILANR AT P |
Define secondary analysis. Discuss the general components of secondary analysis.
3+ 12
coMer facareera s1eest e 1 Mol fRcemicer Siarxe sigstef SieTar o |
What is meant by reliability ? Discuss the different types of reliability. 3+ 12
fammicrel gerce o ey 7 fegpiaEmem [fen el aneEm-T swd
Group - B
frstst — 2

Answer Question No. 6 and any two from the rest.
© AR 2P G4 ) (Y (I /B iead Bed fae |

Write short notes on any two of the following : 2x5=10
¢4 ol wfo A e e Blel oy
a) Levels of measurement
AR BDR
b) Systematic sampling
AT AYADAN
c) Different meanings of statistics
Statistics ®&a fafen sief
d) Summation rules.

ufee ez |
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Briefly discuss different types of non-probability sampling.
N1 A& are fRfem samafér arensr a9 |
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10

Calculate the values of mecan and median from the following frequency distribution.

Also find out the value of mode by using relationship between mean, median and

mode.

4+4+2

farea ofesrean fasem (U@ Mean @42 Median-93 I A9y ¥4 Mean, Median @a3

Mode-9a3 P MMM Mode-9¢ NWG Ay a3 |

Class Interval 0-20 20-40 40-60 60-80 80-100
() Rz
Frequency 8 15 6 7 3
(sffasieam)

What is meant by ogive ? Draw an ogive (less than type) from the frequency

distribution given in Question No. 8.

2+8

Hfeis 371te R @RMY 2 8 AR oTHA *fFenun RSE™ (V@ ARES (less than type) IR T84 1

What is meant by dispersion ? Calculate the Standard Deviation from the following

data : 2+8
RS @100 @ carany 2 A ou A Fwe [pifon T Aty 3%
Cassibaarall i -~ 5.5 10-19 | 20290 | 30-39 | 4049 | 50-59
(=f fwma)
Frequency 7 12 15 16 4 20
(effaeream)
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